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Culumative Probabilty current, J,

Culumative Probabilty current at the interface Through the convergence test
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iteration number 0, dt = 2.693e-03 fsec, Transmission coeff=Platuea value = 0.934 %
iteration number 1, dt = 2.072e-03 fsec, Transmission coeff=Platuea value = 0.934 %
—— iteration number 2, dt = 1.593e-03 fsec, Transmission coeff=Platuea value = 0.934 %
—— iteration number 3, dt = 1.226e-03 fsec, Transmission coeff=Platuea value = 0.934 %
—— iteration number 4, dt = 9.429e-04 fsec, Transmission coeff=Platuea value = 0.934 %
0.0 0.2 0.4 0.6 0.8 1.0
le—14

Time simulation, [fsec]



